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Question Paper Specific Instructions
Please read each of the following instructions carefully before attempting questions :
There are TWENTY questions printed both in HINDI and in ENGLISH.
All questions are compulsory.
The number of marks carried by a question/part is indicated against it.

Answers must be written in the medium authorized in the Admission Certificate which must be
stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided.
No marks will be given for answers written in a medium other than the authorized one.

Answers to Questions no. 1 to 10 should be in 150 words, whereas answers fo
Questions no. 11 to 20 should be in 250 words.

Keep the word limit indicated in the questions in mind.

Any page or portion of the page left blank in the Question-cum-Answer (QCA) Booklet must be
clearly struck off.
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Ql.

Q3.

Q5.

“ara # e FE 6 it TrEl syefy GatE =R gR wwieofs
gEis 1 wiaarie & \” gara ar fafvdl 6 gema @ @ s f SR
$ifw | (150 wreat d I difom)

“The most significant achievement of modern law in India is the
constitutionalization of environmental problems by the Supreme Court.”

Discuss this statement with the help of relevant case laws.
(Answer in 150 words)

“ra & wrqul & e FE e e w0 w6 i was w9 @ asft wnd
Amitehi 1 ey B, foeg 3 i anfim 94 & |7 feogoft ifs |

(150 wregi § e 2ifom)

“Right of movement and residence throughout the territory of India are freely
available to the Indian citizens, but these rights are not absolute.” Comment.
(Answer in 150 words)

Al T H, 9Ra § i & faspieon 1 SeR W weEaigea 6t fea dim
% gftafda fea 2 7 (150 wedi § 3w 4ifsm)

To what extent, in your opinion, has the decentralisation of power in India
changed the governance landscape at the grassroots ? (Answer in 150 words)

TS | % Jufa % ¥9 § 9a & Iv-argafa @ g it fadea i
(150 wregi # 3w difsm)

Discuss the role of the Vice-President of India as the Chairman of the
Rajya Sabha. (Answer in 150 words)

v fuwer @ sm & wifafus Fem 4 93 Fem § saae ) am § @
g0 saeht yiftem 1 fag=mn i | (160 wegi @ I i)
Discuss the role of the National Commission for Backward Classes in the wake

of its transformation from a statutory body to a constitutional body.
(Answer in 150 words)

nfe-wifeR AT 1 BYTEHAT F 6T H AT FH * o wrew o fef @y & g
qash a1 SEvasd 8 | fadw fifse | (150 wegl # 3w Afem)
The Gati-Shakti Yojana needs meticulous coordination between the

government and the private sector to achieve the goal of connectivity. Discuss.
(Answer in 150 words)
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Q7.

Q8.

Q10.

Q11.

CRNA-X-GSB

fesgmen & ued # ) wefueiEl R Amiewt & TEa w@aeAdfiea & e
e wfusn afufem, 2016 Haw fafus seaey w9@ ® wmar 8 | feoufi
#Fifso | (150 we2t 7 39 o)

The Rights of Persons with Disabilities Act, 2016 remains only a legal
document without intense sensitisation of government functionaries and
citizens regarding disability. Comment. (Answer in 150 words)

TedH WY A 191 % WISAH | TRl e sSgadl H §UR UH Wifaviet wed 2,

fopeg gaehl sToft wimmd o & | feoaoft fifsr | (150 wredl # I i)

Reforming the government delivery system through the Direct Benefit

Transfer Scheme is a progressive step, but it has its limitations too. Comment.
(Answer in 150 words)

‘g sfteret @1 sl g fim 2 ) qdedT wem % et | o & adue dwe §
WA 1 g 6 fadwmn s | (150 wEi § 3w difsw)

‘India is an age-old friend of Sri Lanka.’ Discuss India’s role in the recent crisis
in Sri Lanka in the light of the preceding statement. (Answer in 150 words)

oy fa=m § #1 fawR® (BIMSTEC) 9% (SAARC) 1 98 UH JHHTG 134
2723 2 % 9 791 GEEAN 3R IFEAFEAT & ? §9 U NS $ &9 IH ¥
yret fa2m ifs % 38w F9 9 7u E 2 (150 el H I difo)
Do you think that BIMSTEC is a parallel organisation like the SAARC ? What
are the similarities and dissimilarities between the two ? How are Indian
foreign policy objectives realized by forming this new organisation ?

(Answer in 150 words)

@it wfaffuea sAfaf@En, 1951 % =ria gug sgan U4 faufye & seei & 99
# ot faaEl & ol 6 ofsen =1 fasm fifse | e s w fRh faifae
Hifva yearh & Fate w1 3= w@ifvs frn s w6 & 2 @ Pl & fosg difea o

F FIA-T1 I9TR 9 2 2 arg fafeet &1 = @ | (250 w=i § I Sfw)

Discuss the procedures to decide the disputes arising out of the election of a
Member of the Parliament or State Legislature under The Representation of
the People Act, 1951. What are the grounds on which the election of any
returned candidate may be declared void ? What remedy is available to the
aggrieved party against the decision ? Refer to the case laws.

+ (Answer in 250 words)
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Q12.

Q13.

Q14.

Q15.

Q16.

Q17.

=T g faurh wftwat & s i sreaves wal w1 e it | ot
Ty @ fom osawre g srenes % yeawes 1 duar 1 fad=mn fifs |
(250 wregi # 3w Afra)

Discuss the essential conditions for exercise of the legislative powers by the
Governor. Discuss the legality of re-promulgation of ordinances by the
Governor without placing them before the Legislature, (Answer in 250 words)

“yra # T TeAfeE gW SiEe % uw § ¥, wafs 8 5w rseaamea &
geg # |” feowft HifSre | (250 w3 Iw )

“While the national political parties in India favour centralisation, the regional
parties are in favour of State autonomy.” Comment. (Answer in 250 words)

A 3R w8 % vgefa & Faifaa g9 & gfen &1 sreeaers weaw fifo |
(250 wregf ® Ie 2ifsm)

Critically examine the procedures through which the Presidents of India and
France are elected. (Answer in 250 words)

Ay AER-AED & IqHG F A1e 4, gnd & Fatea s F gfte w0 fadem
o | (260 weai # IR Afow)

Discuss the role of the Election Commission of India in the light of the
evolution of the Model Code of Conduct. (Answer in 250 words)

HeaHRl A1 % Afafer wim #1 war & dfad g ofw wheE f Fa F o
weredifa 3 stremdl &% et TaYA 1 eTavgear @ | g« St |
(250 3152 3§ I difau)

Besides the welfare schemes, India needs deft management of inflation and
unemployment to serve the poor and the underprivileged sections of the
society. Discuss. (Answer in 250 words)

1 A 38 Hd H Hed 7 6 fawm &g g sifusoi @ agdt fofen fawm ufman
# wmaifas wriierd & wave #i gerdt # 2 s I F oitfaes = fag A |

(250 wr=g] # g Eife)
Do you agree with the view that increasing dependence on donor agencies for

development reduces the importance of community participation in the
development process ? Justify your answer. (Answer in 250 words)
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Q18. THelt fren & wgw & At § Smewa o0 e fa, == 6 fven 9 Son-smanfta

Q19.

Tgfa &% gadq d fges o sfad e e =1 sfver sfufmm, 2000 st

2 | fawerm Hif | (250 weai § I i)

The Right of Children to Free and Compulsory Education Act, 2009 remains

inadequate in promoting incentive-based system for children’s education

without generating awareness about the importance of schooling. Analyse.
(Answer in 250 words)

12U2 (WG, 3909«, §Y% 3" WG 3N §gw Te9 FaiE) oE afvas
Teifa # wma #i foufs = fre g w9 stm 2 (250 =2 # 39 dfn)

How will 12U2 (India, Israel, UAE and USA) grouping transform India’s
position in global politics ? (Answer in 250 words)

. ‘Eew ww AW h FEE g ) yaedifa & e d, fafim side wei A

Serary uftada i fawn 4 vyna i "=erd fifa w1 giges iy fifsg |

(250 wegt § 3w Fifom)
‘Clean energy is the order of the day.” Describe briefly India’s changing policy
towards climate change in various international fora in the context of
geopolitics. (Answer in 250 words)
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